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B3z K % \ OUT IN GROSS HDCP NET | JE{& \ K& OUT IN GROSS HDCP NET
1 i EE 38 37 75 0 75 51 & 8h 40 48 88 0 88
2 WA Rk 41 35 76 0 76 52 P& 1EE 38 50 88 0 88
3 W AR 40 37 77 0 77 53 BR Fif 46 43 89 0 89
4 ¥ B 39 38 77 0 77 54 WH BR 46 43 89 0 89
5 B # 39 38 77 0 77 55 HE & 45 44 89 0 89
6 2t 2 39 38 77 0 77 56 mil EZ 45 44 89 0 89
7 NI Sk 39 39 78 0 78 57 Kig EH 43 46 89 0 89
8 N7 Bzél\ 42 37 79 0 79 58 == 5} 43 46 89 0 89
9 &H R 40 39 79 0 79 59 1T E.'L\:'c 49 41 90 0 90
10 fiE] I Bé,n 40 40 80 0 80 60 BE HE 49 41 90 0 90
11 BHE 40 40 80 0 80 61 BB IEA 48 42 90 0 90
12 ER fE— 36 44 80 0 80 62 TH RE 46 44 90 0 90
13 EE K 40 41 81 0 81 63 F@E o ZE 46 44 90 0 90
14 A3 =B 4 38 82 0 82 64 M e 44 46 90 0 90
15 TH ,i— 42 40 82 0 82 65 ZFHA 15 44 46 90 0 90
16 [ic N 41 41 82 0 82 66 878 %L7 43 47 90 0 90
17 Ralic] *ia 40 42 82 0 82 67 [ m 43 47 90 0 90
18 WL BE 46 37 83 0 83 68 Bl BE 43 47 90 0 920
19 Wil Eig 45 38 83 0 83 69 fBi% BEA 51 40 91 0 91
20 mLL BB= 43 40 83 0 83 70 HE sh— 49 42 91 0 91
21 Nk ZEtH 41 42 83 0 83 71 BX = 45 46 91 0 91
22 £ OHEE 40 43 83 0 83 72 hE M 42 49 91 0 91
23 [RA Xi&E 4 40 8 0 84 73 AR BiE 48 44 92 0 92
24 KfE FEX 4 40 8 0 84 74 5 A7 45 47 92 0 92
25 EH 9&4& 43 41 8 0 84 75 FE 8 45 47 92 0 92
26 wa x— 39 45 84 0 84 76 BARE#ERE 45 47 92 0 92
27 i &hEh 46 39 8 0 85 77 thil £ 44 48 92 0 92
28 el Ak 46 39 85 0 85 78 WAR Ej 44 48 92 0 92
29 D EB 4 41 8 0 85 79 FE BEE 43 49 92 0 92
30 :itJII EE 41 44 8 0 85 80 =R = 48 45 93 0 93
31 FEKENRER 46 40 8 0 86 81 AH 57 47 46 93 0 93
32 A FE\E 4 42 8 0 86 82 5 R 47 46 93 0 93
33 HH #E 4 42 8 0 86 83 fERr K ;ﬁ 48 46 94 0 94
34 # aX 4 42 8 0 86 84 F RZ 46 48 94 0 94
35 WE mikia 43 43 8 0 86 85 BH £ 46 48 94 0 94
36 EE R 42 44 8 0 86 86 - T o 44 50 94 0 94
37 0O &L 42 44 8 0 86 87 == 5%? 50 45 95 0 95
38 BE EEB 42 44 8 0 86 88 WE &— 50 45 95 0 95
39 BE fH— 46 41 87 0 87 89 EEE NEE 48 47 95 0 95
40 Hep BT 46 41 87 0 87 90 =l A 45 50 95 0 95
41 FRXK EBE 4 43 87 0 87 91 |‘Jz|: =PI 51 45 96 0 96
42 HHE BEX 43 44 87 0 87 92 ZIL EX 51 45 96 0 96
43 RBix #HX 43 44 87 0 87 93 s 2 50 46 96 0 96
44 = BX 43 44 87 0 87 94 M "z 49 47 96 0 96
45 ZH &ih 43 44 87 0 87 95 Sl 175 49 47 96 0 96
46 ¥ =8 42 45 87 0 87 96 mH & 49 47 96 0 96
47 B+ 8A%E 45 43 88 0 88 97 BER B 50 47 97 0 97
48 FE NAE 43 45 88 0 88 98 il =& 49 48 97 0 97
49 hft CE 43 45 88 0 88 99 TR REi 47 50 97 0 97
50 ARK FH 43 45 88 0 88 100 a0 - 49 49 98 0 98
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B3z K % \ OUT IN GROSS HDCP NET | IEf% \ K& OUT IN GROSS HDCP NET
101 B2H EiE 48 50 98 0 98
102 AR F& 47 51 98 0 98
103 B HE 46 52 98 0 98
104 == 51 48 99 0 99
105 EF EiE 50 49 99 0 99
106 I ER 49 50 99 0 99
107 Bl —— 57 43 100 0O 100
108 KHEH F— 53 47 100 O 100
109 INRR — 1 51 49 100 0O 100
110 B EE 49 51 100 O 100
111 mA ot 52 49 101 0 101
112 EH HE 51 50 101 O 101
113 INE F54 50 51 101 0 101
114 Bl B2 47 54 101 0 101
115 KN EA 47 54 101 0 101
116 mA EA 53 49 102 0 102
17 f2A =R 45 57 102 0 102
118 51 EX 50 53 103 0 103
119 HE 812 50 53 103 0 103
120 ER fEX 54 51 105 0 105
121 mH ¥S 53 52 105 0 105
122 RABNZBEX 49 56 105 0 105
123 SH = 48 58 106 O 106
124 2 &% 49 58 107 0O 107
125 il R 57 51 108 O 108
126 K% EE 55 53 108 0 108
127 ME KBB 55 53 108 0 108
128 7HlE  BR 53 55 108 0 108
129 A+t #HE 60 49 109 0 109
130 LR ES 54 56 110 0 110
131 mAR ®£E 5{ 60 111 0 111
132 Fa KK 58 55 113 0 113
133 hft &I 56 59 115 0 115
134 ® 1EA 57 60 117 0 117
135 IS =E 70 77 147 0 147
Xt BEE BR




